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41. Who is the auther of „The Lost child‟? 

   (a) Oscar wilde       (b) Mulk Raj Anand      (c) R.K Laxman   (d) D. Henry 

42. Who is the author of „The adventure of TOTO‟ ? 

    (a) Oscar widle                               (b) Anton Chekhov 

    (c) R.K. Laxman                               (d) Ruskin bond  



43. What was is waran work & what was his post respectively? 

  (a) To look in to kitchen & Head chef    

(b) To look after work side & junior supervisor   

  (c) Teaching & Teacher                            

(d) make cloth & Tailor 

44. “In the kingdom of fools” everything in the kingdom was? 

            (a) Cheap & opposite       (b) Expensive & rare 

           (c) Dirty & opposite           (d) gold & opposite 

45. Who is the author of “The happy prince”.? 

              (a) Anton Chekhov        (b) o henry 

              (c) Oscar wilde                (d) Harsh Maider 

46. The calculator is ----------- the table 

   (a) at            (b) in   (c) on                               (d) upon 

47. Choose the correct spelling 

       (a) Jewellary          (b) Jewelery (c) Jubbilly                        (d) Jubilee 

48. Who is the auther of „A house is not a home? 

(a) Zan gaudiose      (b) Anton chekhow  (c) O. Henry             (d) Harsh mander 



49.  What happen to the bag of Bill Bryson? 

 (a) Lost                  (b) Torn   (c) Jammed Zip        (d)Stolen by thief 

 

50. Who is the auther of „The beggar‟? 

         (a) Harsh mander           (b) Robert frost 

         (c) Anton chekhov            (d) premchand 

51. Who is the main character of „The fun they had ‟ story ? 

         (a) Toln         (b) peggy      (c) chad              (d) Margie 

52. Which work evelyn glehnie can‟t do? 

        (a) Talking     (b) Hearing       (c)  Walk            (d) sleep 

53. Which year Albert Einstein born? 

        (a) 1869        (b) 1879       (c) 1859             (d) 1889 

54. Who is the author of „shake & the mirror‟? 

       (a) Phoebe cary   (b) V.M. Basheer   (c) Robert frost       (d) Ruskin bond 

55. Who is the Auther of „My childhood‟? 



            (a) R.K Laxman           (b) premchand 

            (c) APJ Abdul kalam      (d) Robert frost 

 

56. How many times did Snatosh Yadav climbed mount Everest? 

   (a) Twice         (b) Once   (c) Thrice     (d) five times  

57. Do you have………………… Postcard ? Yes I have…… 

        (a) Any, some                                          (b) One, any 

        (c) Any, one                                             (d) some, some 

58. He said‟ what are you doing ? 

    (a) He asked me what you were doing. 

    (b) He asked me what you were doing. 

    (c) He asked me what he is doing. 

    (d) He asked me what I was doing. 

 

59. Children …………………. Obey their parents & teachers. 

   (a) Will       (b) Can  (C) Must          (d) Should 

60. When the head master entered the class, a student …………………. On the  

 black board. 

 



    (a) is writing                                                      (b) Was writing 

    (c) Will write                                                      (d) Writes 
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